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Schéma d’intégration du champ de déformation

ε11 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ε22 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ε33 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ε12 = ε21 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ε23 = ε32 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ε31 = ε13 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1. Calcul de ωij,k = εki,j − εjk,iωij,k = εki,j − εjk,iωij,k = εki,j − εjk,i

ω12,1 = ε11,2 − ε21,1 = . . . . . . . . . . . . . . . . . . . . . . .

ω12,2 = ε21,2 − ε22,1 = . . . . . . . . . . . . . . . . . . . . . . .

ω12,3 = ε31,2 − ε23,1 = . . . . . . . . . . . . . . . . . . . . . . .

ω23,1 = ε12,3 − ε31,2 = . . . . . . . . . . . . . . . . . . . . . . .

ω23,2 = ε22,3 − ε32,2 = . . . . . . . . . . . . . . . . . . . . . . .

ω23,3 = ε32,3 − ε33,2 = . . . . . . . . . . . . . . . . . . . . . . .

ω31,1 = ε13,1 − ε11,3 = . . . . . . . . . . . . . . . . . . . . . . .

ω31,2 = ε23,1 − ε12,3 = . . . . . . . . . . . . . . . . . . . . . . .

ω31,3 = ε33,1 − ε13,3 = . . . . . . . . . . . . . . . . . . . . . . .

2. Calcul de ωijωijωij

ω12 = −r+ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ω23 = −p+ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

ω31 = −q+ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3. Calcul de ui,j = εij + ωijui,j = εij + ωijui,j = εij + ωij

u1,1 = ε11 = . . . . . . . . . . . . . . . . . . . . . . . . . . .

u1,2 = ε12 + ω12 = −r+ . . . . . . . . . . . . . . . . . . . . . .

u1,3 = ε13 − ω31 = +q+ . . . . . . . . . . . . . . . . . . . . . .

u2,1 = ε21 − ω12 = +r+ . . . . . . . . . . . . . . . . . . . . . .

u2,2 = ε22 = . . . . . . . . . . . . . . . . . . . . . . . . . . .

u2,3 = ε23 + ω23 = −p+ . . . . . . . . . . . . . . . . . . . . . .

u3,1 = ε31 + ω31 = −q+ . . . . . . . . . . . . . . . . . . . . . .

u3,2 = ε32 − ω23 = +p+ . . . . . . . . . . . . . . . . . . . . . .

u3,3 = ε33 = . . . . . . . . . . . . . . . . . . . . . . . . . . .

4. Calcul de uiuiui

u1 = λ1 − rx2 + qx3+ . . . . . . . . . . . . . . . . . . . . . . . . . . .

u2 = λ2 − px3 + rx1+ . . . . . . . . . . . . . . . . . . . . . . . . . . .

u3 = λ3 − qx1 + px2+ . . . . . . . . . . . . . . . . . . . . . . . . . . .


